— e rn5- (KSC-SP) [/

- @TFXNo.x5EH

IKSC1215$PI

I
¥ 7 hHS—No.

e
~
N

[‘_’ 2.C (D6~25 C=05)
(D30~ C=10)
7

\&;

¥ RT7OT Y MPIA=
YO T—VEDER
DETEICHREIS T
g%w@%mnﬁwa

o

Dt =
W;w

OvvIbhS— ﬂ4X$

- R A R RN TN

KSC 0308-SP M 3X 8 850

KSC 0408-SP 4 8 15 M3 |[M3X 8| 34 |3 1 4.5 3 9 850

KSC 0508-SP 5 8 20 M3 |M3X10 34 |3 1 5.5 4 17 920

KSC 0510-SP 5 10 20 M4 [M4X10| 45 | 375 | 1 6 4 21 920

KSC 0608-SP 6 8 20 M3 |[M3X10 34 |3 1 6 4 16 950
BEER KSC 0610-SP 6 10 20 M4 M4X10| 45 | 375 | 1 6 4 20 950
KSC 0808-SP 8 8 25 M3 M3X10 34 |3 15 | 8 5 25 | 1,000

KSC 0810-SP 8 10 25 M4 'M4X12| 45 | 375 | 15 | 8 5 31 | 1,000

— KSC 0812-SP 8 12 28 M5 M5X16 55 | 45 15 | 8 5 47 | 1,000
KSC 0815-SP 8 15 30 M6 M6X15 7 6 15 | 9 5 68 | 1,000

KSC 1010-SP 10 10 30 M4 |M4X12 45 375| 15 | 9 5 43 | 1,100

KSC 1012-SP 10 12 30 M5 |[M5X16| 55 |45 1.5 | 9 5 52 | 1,100

KSC 1015-SP 10 15 35 M6 M6X14| 7 6 1.5 |10 6 91 | 1,100

KSC 1210-SP 12 10 30 M4 |M4X12 45 [ 375| 15 |10 5 41 | 1,100

KSC 1212-SP 12 12 30 M5 [M5X16| 55 |45 1.5 |10 5 49 | 1,100

KSC 1215-SP 12 15 35 M6 M6X18 7 6 1.5 | 11 6 87 | 1,100

KSC 1310-SP 13 10 30 M4 |M4X12 45 375| 15 |10 5 40 | 1,100

KSC 1315-SP 13 15 35 M6 M6X18 7 6 15 (11 6 85 | 1,100

) KSC 1510-SP 15 10 32 M4 M4X12 45 375 15 11 6 43 | 1,100
I7~ KSC 1512-SP 15 12 35 M5 M5X16 55 |45 1.5 |12 6 65 | 1,120
Q KSC 1515-SP 15 15 40 M6 [M6X20| 7 6 1.5 |13 8 111 | 1,120
I KSC 1610-SP 16 10 35 M4 |M4X12 45 375 | 15 |12 6 52 | 1,150
KSC 1612-SP 16 12 35 M5 |[M5X16| 55 |45 1.5 |12 6 63 | 1,150

® 46



